Practice Tests Set 16 — Paper 1F mark scheme, performance data and suggested grade boundaries

Q | Working | Answer | Mark | Notes

1 78 1 Bl cao
Total 1 mark

2 57 1 Bl cao

100

| | | Total 1 mark

3 2 1 Bl cao
| | | Total 1 mark

4 § 1 B1 cao

7

| | Total 1 mark

5 4 % 1 Bl cao

Total 1 mark
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for all correct frequencies
(BI for 2 or 3 correct
frequencies or 2, 3 or 4
correct tallies with no
frequencies (or incorrect
frequencies) or frequencies
written as probabilities with
2, 3 or 4 correct numerators)

(b)

-4 R

Q — b G F o o
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§ A TSI ]
e el

NC\.\K bus

B2
ft

For 4 correct bars ft from
table (B1ft for 2 or 3 correct
bars ft from table)

B1

For clear labels for bars and
linear scale starting at 0 oe

Condone bars of different
widths

Total 5 marks




Practice Tests Set 16 — Paper 1F mark scheme, performance data and suggested grade boundaries

Q | Working | Answer | Mark | Notes
7 (a) 13 1 | Bl accept0.43(333...)
30 or 43(.333...)%
(b) e.g. l—l or 13+4+6 or 23 where a > 23 and a # 2 | Ml
30 30 a
30
23 Al accept 0.76(666...) or 0.77
30 or 76(.666...)% or 77%
penalise incorrect notation
once only
Total 3 marks
8 (a) 14 Bl
(b) -19 Bl
Total 2 marks
9 26 1 Bl
Total 1 mark
10 (a) 13x -2y 2 B2 accept—2y + 13x
(B1  for 13x or —2y)
(b) 2n=16—-5or2n=11o0eor (16 —-5)+2 2 M1 for a correct first step
or a correct calculation for n
33 Al for 5.5 or 11 or 5l
2 2
Total 4 marks




Practice Tests Set 16 — Paper 1F mark scheme, performance data and suggested grade boundaries

Q | Working | Answer | Mark | Notes
11 (a) 44 1 Bl
(b) 6 1 Bl
(©) 36 1 Bl
(d) 17 1 Bl
(e) 8, 76 1 B1  Must have both and no others
Total 5 marks
12 20cd 1 B1
Total 1 mark
13 eg 76% (25%) 7.66% (8%) 2.6% or 2 M1  All values written as % or all
(0.76) 0.25 (0.0766) 0.08 (0.026) written as decimals or 4 values in
correct order or all values in
correct reverse order
0.026, 0.0766, 8%, Al  Any form
25%, 0.76
Total 2 marks
14 e 1 Bl

Total 1 mark




Practice Tests Set 16 — Paper 1F mark scheme, performance data and suggested grade boundaries

Q | Working | Answer | Mark | Notes
15 _ 1 B 3 M1  Allow 9 squares clearly indicated
0.3 %30 (=9) or §X3O(_ 10) or for 30% or 10 squares clearly
N 1
l+ﬂ(= Ejoe or 0.333...+0.3(=0.63...) indicated for —
3 100\ 30
or 33.3...(%) +30(%)oe (=63.3...)(%)
“9” and “10” or 19 shaded squares on diagram M1  Allow squares with crosses or
W19, other indication of ‘shading’ such
or|1- 30 x30 or (1 -0.63...)x 30 as y’ or ‘b’
11 Al
Total 3 marks
16 (a)(d) Three different 1 Bl caoe.g.1,2,30r3,6,9
numbers less than or
equal to 9
(a)(i1) Three different 1 Bl caoe.g. 10, 20, 30 or 20, 40, 60
multiples of ten
(b) A cross at 0.5 1 Bl cao
Total 3 marks




Practice Tests Set 16 — Paper 1F mark scheme, performance data and suggested grade boundaries

Q | Working | Answer | Mark | Notes
17 | (a) 1 2 3 4 s 6 2 B2 B2 for all scores completed
> s 2 2 ! 0 correctly. B1 for 6, 7, 8 or 9 scores
: f ; 3 ; ; completed correctly
(b) % b BIft (% or 0.83(33...) or 83.(33..)%)
ft from complete table
(©) 9 1 B1ft oe Penalise incorrect notation once
18 only
ft from complete table
Total 4 marks
18 | 4x — ¥ | 1 | BI
| | | | Total 1 mark
19 6p 1 Bl
Total 1 mark
20 12 1 B1
8 1 B1
Total 2 marks
21 8y? 1 Bl

Total 1 mark




Practice Tests Set 16 — Paper 1F mark scheme, performance data and suggested grade boundaries

Q | Working | Answer | Mark | Notes
22 3,7,8,8 B3  For alist of 5 correct numbers
and one of
4orSor6 (B2 for a list of 5 numbers with 2 of:
median of 7, mode of 8, range of 5
B1 for a list of 5 or 6 numbers with 1
of:
median of 7, mode of §, range of 5)
Total 3 marks
23 (©) Two intersecting arcs with equal radius M1 For arcs that intersect within guidelines or
correct equilateral triangle drawn without
arcs
Correct equilateral Al
triangle with arcs
Total 2 marks




Practice Tests Set 16 — Paper 1F mark scheme, performance data and suggested grade boundaries

Q | Working | Answer | Mark | Notes
24 20 9 40 18 20n 9n 2 M1 for finding a common denominator
e.g. —and— or —and— or —and—— . )
24 24 48 48 24n 24n with at least one fraction correct
20 9 11 Shown Al  dep on M1, for a complete correct
24 24 24 method leading to 11
4018 2 11 24
48 48 48 24
20n 9n _11n _ 11
24n 24n  24n 24
Total 2 marks
25 | 3(31—2) 1 Bl
Total 1 mark




Practice Tests Set 16 — Paper 1F mark scheme, performance data and suggested grade boundaries

Q | Working | Answer | Mark | Notes
26 (a) Reflection 2 B1  for reflection with no mention of
x=1 translate, rotate, enlarge, move

Bl  for x =1 with no mention of a
vector, angle or scale factor

(b) Rotation about (0,0) 3 B1  for rotation with no mention of
90° clockwise translate, reflect, enlarge, move

B1  for 90° clockwise/270°
anticlockwise/—90° with no
mention of a vector, line of
symmetry or scale factor

B1  for (centre =) (0,0), accept origin
or O with no mention of a vector,
line of symmetry or scale factor

0
Do not accept [OJ for centre

Total 5 marks

27 (a) 2.84 x 10° 1 B1
(b) 0.000 25 1 B1
Total 2 marks
28 8x2+20x — 6x2 + 9x 2 M1 3 correct terms or all 4 terms
condoning incorrect signs
2x% + 29x Al
Total 2 marks




Practice Tests Set 16 — Paper 1F mark scheme, performance data and suggested grade boundaries

Q | Working | Answer | Mark | Notes
29 (1) 21,27 Bl
(i1) 21,23,24,25,27,29 Bl
Total 2 marks
30 |(b) P xy"=y" or y'xy" =y or5+n-6=13 2 M1 Use of 1 rule of indices or a correct
equation in n
14 Al Accept y"
Total 2 marks
31 (c) +e=dx oc or Y_g4_¢ 2 M1 for a correct first step
X x
d=—y+e Al oee.g.a’:lJrE
X X x
Total 2 marks
32 (a) 16x!%2° 2 B2  BI for an answer in the form ax™y”
with 2 correct from
a=16,n=12,m=20
G | (xx9)(x+4) 2 M1 for(x£9)(x£4)
or for (x + a)(x + b)
where ab=-36 ora+b =5
x+9)(x—-4) Al
(i1) -9,4 1 B1 ft from (b)(1)
Total 5 marks

10
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Q

Working

Answer

| Mark |

Notes

33

(a)

533y + 4u)

B2

(B1

for 5)°(3y + 4u)

for 5y(3)° + 4uy?)

or 5)%(3)? + 4uy)

or 2(15)% + 20uy)

or 1>(15y + 20u)

or 5)°(...) where there is only one
mistake in the brackets)

(b)

4><(4—3x)=5—8xoe
Or 16—12x=5—-8x0¢

or 4—3x:%—2xoe

Ml

for removal of fraction in a correct
equation

€.g. 16-5=12x—-8x
or 11=4x0¢€

or 4—2:3x—2x
4

MI

for terms in x on one side and
numbers on the other side in an
equation, allow correct
rearrangement of their equation in
the formax+b=cx +d

2.75

Al

3 11
deponMl)oee.g. 2=or —
(dep ) g 2 0r —

Total 5 marks

11
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Q | Working | Answer | Mark | Notes
34 | (o)) Tt—2t<7+8oeegSt<15o0e 2 M1  Terms in ¢ on one side and number
terms the other side — may be in an
equation or the incorrect inequality
sign or an answer of
t=3oregt>3
t<3 Al  Must be a correct inequality given
as answer
(i1) open circle at 1 =3 1 Bl1ft Allow a line without an arrow if it
and a line with an reaches to at least —5, with an
arrow to the left arrow it can be any length
Total 3 marks

12




Practice Tests Set 16 — Paper 1F mark scheme, performance data and suggested grade boundaries

Qn | Paper | Question | Mean | Max Mean % | ALL 5 4 3 2 1 u
score score

1| F Qode 0.91 1 91 0.91 099 | 097| 001 073| 056| 0414
2 | 1F Qo4a 0.93 1 93| 093| 099| 095| 096] 088| 061 0.29
3 |1F Q04b 0.89 1 89| 089| 098] 001 088| 074| 057| 036
4 | 1F Qo4c 0.87 1 87| o087| 097| 001 087| 070| 053] 0.14
5 |1F Qo4d 0.72 1 72| o072| 095| 079| o062] 034] 013| 007
6 | 2F Q02 461 5 92| 461 485| 471 461 422 363 178
7 |1F Q15 247 3 82| 247 290| 277| 244 157  065] 0.0
8 | 2F Q03 1.82 2 91 1.82 1.03 1.84 183 168 127 066
9 | 2F Qo7e 0.89 1 89| 089| 097| 092| o087| 076] 061 0.44
10 |1F Qo7 3.26 4 82| 326| 385| 364| 297| 225 124|036
1M | 2F Q01 432 5 86 | 432| 483 451 417 |  349| 255| 099
12 | 2F Qo7d 0.85 1 85| 085| 093] 085| 081 076 | 069| 022
13 | 2F Q04b 153 2 77 153 185 162 1.34 103 067] 044
14 | 2F Qo7c 0.78 1 78| 078| 001 0.81 073| 059| 033| 000
15 | 2F Qo4a 2.19 3 73| 219| 278| 240 1.01 117 | 054 | 022
16 | 1F Q02 2.30 3 771 230 | 259| 236| 225 1.99 1.41 0.28
17 | 2F Q09 2.99 4 75|  299| 354| 343| 273| 216 136| 044
18 | 1F Q12a 0.68 1 68| 068 0091 076 | 057 028| 012 0.00
19 | 2F Qo7a 0.76 1 76 | 076| 088| 075| 067| 063| o064| 022
20 | 2F Q06ab 148 2 74 148 168 144 147 128  095| 055
21 | 2F Q07b 0.68 1 68| 068| 087 071 059| 039| 024| 000
22 | 2F Q16 1.69 3 56 169 | 247 1.84 115| 048] 0414| 0.0
23 | 2F Qo6¢C 1.21 2 61 1.21 159 1.22 107|061 036 | 0.1
24 | 1F Q16 114 2 57 114 175 120 073| 028| 003| 000
25 | 2F Q07g 0.54 1 54| 054| 084 058| 026] 013| 005| 000
26 | 1F Q14 2.21 5 44| 221 350 | 212 142 056 027| 007
27 | 1F Q22 0.85 2 43| 085 145|081 0.41 017 | 003| 000
28 | 2F Q19a 0.70 2 35| 0.70 110 069| 041 017 | 0.1 0.00
29 | 1F Q20 0.65 2 33| 065 103| 066| 038| 0417| 004| 000
30 | 2F Q19 0.67 2 34| 067 128 059| 015| 007| 000| 000
31 | 1F Q12c 0.67 2 34| 067 129| 050| 023| 006| 000| 000
32 | 1F Q25 112 5 22 112  222| 085| 027| 008| 000| 000

13




Practice Tests Set 16 — Paper 1F mark scheme, performance data and suggested grade boundaries

33 1F Q21 1.09 5 22 1.09 2.19 0.71 0.30 0.17 0.03 0.00
34 | 2F Q19c 0.78 3 47 0.78 1.56 0.51 0.18 0.11 0.06 0.00
49.25 80 49.25 63.42 50.03 41.16 30.70 20.42 7.78
Suggested grade boundaries
Grade 5 4 3 2 1
Mark 58 45 36 25 15

14
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